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Q1. Use CVX to solve the following problem

min
x,y

cTx

s.t. x = Ay

ly ≤ y ≤ uy,

lx ≤ x ≤ ux,

x ∈ Rm, y ∈ Rn,

where A ∈ Rm×n, ly, uy ∈ Rn, lx, ux ∈ Rm, and c ∈ Rm are given data.

Q2. Use CVX to solve the following problem

min
x,y

xTQ0x

s.t. x = Ay

xTQix ≤ bi, i = 1, . . . , p

y ≤ u,

x ∈ Rm, y ∈ Rn,

where A ∈ Rm×n, Qi ∈ Sm
+ , b ∈ Rp, and u ∈ Rn are given data.

Q3. Use CVX to solve the following problem

min
X

trCX

s.t. X ∈ Hn
+,

trAiX ≤ bi, i = 1, . . . , p,

trEjX = fj , j = 1, . . . , q,

where the given data are C ∈ Hn, Ai, Ej ∈ Hn, bi ≥ 0, and fj ≥ 0. Here, Hn
+ denotes the set of

Hermitian semidefinite matrix.

1


